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. ndividual is given by U(X,Y)=4X+2Y.

1. The utility Ffunction of an i .
the bundle (3,2) provides the same

With this utility function,
utility as the bundle
(M) (2,3) (B) (3,2) (C) (4,2) (D) (2,1)

2. If an individual'’s indifference curve map does not obey the

assumption of a diminishing MRS, then

(A) the individual will not maximize utility.

(B) the individual will buy none of good X.

(C) tangencies of indifference curves to the budget constraint
may not be points of utility maximization.

(D) the budget constraint cannot be tangent to an appropriate
indifference curve.

3. Which of the following will not cause a demand curve to shift
position?
(A) A doubling of the good’s price. (B) A doubling of income.
(C) A doubling of the price of a closely substitutable goods.
(D) A doubling of preference.

4. witp only two goods, X and Y, if X and Y are gross substitues,
a rise in Px must necessarily
(A) increase spending in X. (B) increase spending in Y.
(C) reduce spending in X. (D) reduce spending in Y.

5. The price elasticity of demand for a linear demand curve follows
the pattern (moving from high price to low prices)
(A)inelastic, unit elastic, elastic.
(B)unit elastic, inelastic, elastic.
(C)elastic, unit elastic, inelastic.
(D)elastic, inelastic, unit elastic.

6. The average productivity of labor reaches its maximum
(A) at the point of inflection of the total product line.
(B) where the slope of the total product curve is steepest.
(C) where the slope of the total product curve is zero.
(D) where marginal and average productivity are equal.
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7. A firm whose production function displays lncreasing
scale will have a total cost curve that is

(A) a straight line through the origin. '
slope.

(B) a curve with positive and continually decreas1ng
(C) a curve with positive and continually increasing slope.
(D) a curve with negative and conLlnual]y decreasing slope.

8. If a firm is a price Laker, its marginal revenue is
(A) equal to market price. (B) less than market price.

(C) greater than market price.
(D) a multiple of market price that is greater than one.

9. In a competitive market, an efficient allocation of resources is

characterized by
(A) a price greater than the marginal cost of production.

(B) the possibility of further mutually beneficial transactions.
(C) the largest possible sum of consumer and producer surplus.
(D) a value of consumer surplus equal to that of producer surplus.

10. If a monopoly is maximizing profits
(A) price will always be greater than average cost.
(B) price will always be greater than marginal cost.
(C) prlce will always equal marginal cost.
(D) price will always equal marginal revenue.
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